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QUESTION 1

Where would you store a value collected on a case report form but not defined in an SDTM domain?
A. RELREC

B. DM

C. SUPPQUAL

D. SC

Correct Answer: C

QUESTION 2

Given the following log entry:

a7 data hratss :

gz merge dm hr
49 by zubjid :
50 run ;

IHFD: The variable sexod on data set WORK.DM will be overwritten hy data set WORK.HR.
NOTE: There were 4 cbservations read from the data set WORKE.DH.
NOTE: There were 4 cbservations read from the dats set WORK.HER.
NOTE: The data secr WORK.HRATES has 4 observations and 4 variables.
NOTE: DATA scatement used (Total process cime):
real cime 0.06 seconds
epu time 0.01 seconds

Which SAS system option adds the blue highlighted lines to the log?
A. INFO

B. MSGLEVEL=I

C. INVALIDDATA=\VI\Y

D. NOTES

Correct Answer: B

QUESTION 3
Which statement assigns the current date to the character variable CURRDT?
A. currdt="andsysdate.";

B. currdt="%sysdate.";
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C. currdt="sysdate.";
D. currdt="#sysdate.";

Correct Answer: A

QUESTION 4

Given the following output from the TTEST Procedure: Variable:

Variable: rastglue

| Hean Ftd Dev 3cd Err Minimum M imum
& T.56517 0.4933 0.z2041 6.59500 B.3700
Hean 95% CL Hean Stcd Devs 95% CL 3Std Dew
T.6517 T.1270 B.1763 0.4939 0.3121 1.2262
DF t Valus Fr > |t}
S 37.499 <.0001

What is the t-test p-value?
A.0.3121

B.
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